

This CARFAX Vehicle History Report is based only on information supplied to CARFAX and available as of 1/19/19 at 10:02:13 AM (CST). Other information about this vehicle, including problems, may not have been reported to CARFAX. Use this report as one important tool, along with a vehicle inspection and test drive, to make a better decision about your next used car.

CARFAX Ownership History The number of owners is estimated		A Owner 1
Year purchased		2014
Type of owner		Personal lease
Estimated length of ownership	CARFAX	4 yrs. 9 mo.
Owned in the following states/provinces	10WNER	Michigan
Estimated miles driven per year	The state of the s	22,646/yr
Last reported odometer reading		104,110

CARFAX Title History CARFAX guarantees the information in this section	A Owner 1
Salvage Junk Rebuilt Fire Flood Hail Lemon	Guaranteed No Problem
Not Actual Mileage Exceeds Mechanical Limits	Guaranteed No Problem
GUARANTEED - None of these major title problems were reported by CARFAX will buy this vehicle back. View Certificate	

CARFAX Additional History Not all accidents / issues are reported to CARFAX	& Owner 1
Total Loss No total loss reported to CARFAX.	No Issues Reported
Structural Damage No structural damage reported to CARFAX.	No Issues Reported

Airbag Deployment	No Issues
No airbag deployment reported to CARFAX.	M Reported
Odometer Check	No Issues
No indication of an odometer rollback.	✓ Indicated
Accident / Damage	No Issues
No accidents or damage reported to CARFAX.	Reported
Manufacturer Recall	No Recalls
No open recalls reported to CARFAX. Check for open recalls on GM vehicles at <u>recalls.gm.com</u> .	M Reported
Basic Warranty	Warranty
Original warranty estimated to have expired.	Expired

Owner 1	X Deta			_	
Owner 1 urchased:	2014	Date:	Mileage:	Source:	Comments:
ype: here: st. miles/year: st. length owned:	Personal lease Michigan 22,646/yr 4/2/14 -	Original Equipment		OnStar	Vehicle equipped with OnStar Get 3 free months of premium OnStar with Automatic Crash Response, Roadside
t. length owned.	present (4 yrs. 9 mo.)				Assistance and Remote Door Unlock by pressing the blue OnStar button Learn more
		03/26/2014		Dealer Inventory	Vehicle offered for sale
		04/02/2014	348	Michigan Motor Vehicle Dept. Grand Rapids, MI Title #263C0920749	Title or registration issued First owner reported Titled or registered as personal lease vehicle
		08/07/2014	7,724	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Oil and filter changed Engine/powertrain computer/module reprogrammed PCM reprogrammed
		08/28/2014		Michigan Motor Vehicle Dept. Grand Rapids, MI	Registration issued or renewed
		01/16/2015	15,395	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Fuel pump module replaced Oil and filter changed
		12/22/2015	33,330	Todd Wenzel Automotive Grand Rapids, MI 616-949-7700 toddwenzel.gmpsdeale r.com	Maintenance inspection completed Oil and filter changed Two tires replaced Four wheel alignment performed
		06/07/2016	43,025	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Oil and filter changed Tires rotated Lights checked
		08/29/2016		Michigan Motor Vehicle Dept. Grand Rapids, MI	Registration issued or renewed
		12/09/2016	57,132	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Oil and filter changed
		05/03/2017		Michigan Motor Vehicle Dept. Grand Rapids, MI	Loan or lien reported

CARFAX \	√ehicle Histo	ory Report for this 20	014 BUICK ENCLAVE: 5GAKRBKD8EJ148362
05/03/2017	63,588	Michigan Motor Vehicle Dep Grand Rapids, MI Title #603F122024	
05/22/2017	67,063	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Oil and filter changed
08/10/2017	71,885	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Brakes checked
08/29/2017	73,195	Tommy's Car Was Oil Change Grand Rapids, MI 616-285-7014 https://tommys-ex ss.com/	Air filter replaced Oil and filter changed Air filter checked
09/11/2017		Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Vehicle serviced
09/22/2017	75,632	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Vehicle serviced
11/21/2017	79,495	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Vehicle serviced
12/18/2017		Michigan Motor Vehicle Dep Caledonia, MI	Registration issued or renewed ot. Registration updated when owner moved the vehicle to a new location
03/21/2018	86,340	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Vehicle serviced
09/17/2018		Michigan Motor Vehicle Dep Caledonia, MI	Registration issued or renewed ot.
10/23/2018	102,999	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Vehicle serviced
11/05/2018	104,110	Fox Chevrolet Caledonia Caledonia, MI 616-891-8104 foxchevrolet.com/	Tires rotated
01/19/2019		myCARFAX	Manufacturer Recommended Maintenance Schedules
		The second secon	this vehicle's maintenance schedule, service history recall alerts at myCARFAX.com.

Have Questions? Please visit our Help Center at www.carfax.com.



View Full Glossary

First Owner

When the first owner(s) obtains a title from a Department of Motor Vehicles as proof of ownership.

Ownership History

CARFAX defines an owner as an individual or business that possesses and uses a vehicle. Not all title transactions represent changes in ownership. To provide estimated number of owners, CARFAX proprietary technology analyzes all the events in a vehicle history. Estimated ownership is available for vehicles manufactured after 1991 and titled solely in the US including Puerto Rico. Dealers sometimes opt to take ownership of a vehicle and are required to in the following states: Maine, Massachusetts, New Jersey, Ohio, Oklahoma, Pennsylvania and South Dakota. Please consider this as you review a vehicle's estimated ownership history.

A state issues a title to provide a vehicle owner with proof of ownership. Each title has a unique number. Each title or registration record on a CARFAX report does not necessarily indicate a change in ownership. In Canada, a registration and bill of sale are used as proof of ownership.



Follow Us: 🛐 facebook.com/CARFAX 🍑 @CarfaxReports 🔉 CARFAX on Google+





CARFAX DEPENDS ON ITS SOURCES FOR THE ACCURACY AND RELIABILITY OF ITS INFORMATION, THEREFORE, NO RESPONSIBILITY IS ASSUMED BY CARFAX OR ITS AGENTS FOR ERRORS OR OMISSIONS IN THIS REPORT. CARFAX FURTHER EXPRESSLY DISCLAIMS ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING ANY IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. CARFAX®

SYSTEMATIC RETRIEVAL OF THE CONTENT OR OTHER DATA FROM THIS SITE TO CREATE OR COMPILE, DIRECTLY OR INDIRECTLY, IN WHOLE OR IN PART, A COLLECTION, COMPILATION, DATABASE OR DIRECTORY WITHOUT THE EXPRESS WRITTEN PERMISSION OF CARFAX IS STRICTLY PROHIBITED. THE CARFAX VEHICLE HISTORY REPORT IS SUBJECT TO THE CARFAX.COM TERMS OF USE

© 2019 CARFAX, Inc., a unit of IHS Markit. All rights reserved.

Covered by United States Patent Nos. 7,113,853; 7,778,841; 7,596,512, 8,600,823; 8,595,079; 8,606,648; 7,505,838. 1/19/19 10:02:13 AM (CST)

INVENTORY: 19T146A RO Number **18005358**

19T146A:14 BUICK ENCLAVE UNKNOWN Opened/Closed **01/02/19 01/04/19** Service Writer JOHN WORKMAN 5GAKRBKD8EJ148362 19T146A

Odom Out/Tag # **108132**

1 BSBODY BODY SHOP BODY WORK REPAIR RIGHT REAR DOOR RIGHT OUARTER Pay Method BS Internal Tech: 052 JUSTIN HOLLIMAN 1/04/19 4.70 44.20 207.7 Correction: REPAIR RIGHT REAR DOOR AND RIGHT DOG LEG DETRIM FO R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal					
REPAIR RIGHT REAR DOOR RIGHT QUARTER Pay Method BS Internal Tech: 052 JUSTIN HOLLIMAN 1/04/19 4.70 44.20 207.7 Correction: REPAIR RIGHT REAR DOOR AND RIGHT DOG LEG DETRIM FO R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal	Line	Description	Hours	Rate	Exten
Pay Method BS Internal Tech: 052 JUSTIN HOLLIMAN 1/04/19 4.70 44.20 207.7 Correction: REPAIR RIGHT REAR DOOR AND RIGHT DOG LEG DETRIM FO R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal	1	BSBODY BODY SHOP BODY WORK			
Tech: 052 JUSTIN HOLLIMAN 1/04/19 4.70 44.20 207.7 Correction: REPAIR RIGHT REAR DOOR AND RIGHT DOG LEG DETRIM FO R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal		REPAIR RIGHT REAR DOOR RIGHT QUARTER			
Correction: REPAIR RIGHT REAR DOOR AND RIGHT DOG LEG DETRIM FO R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal		Pay Method BS Internal			
R PAINT 2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal		Tech: 052 JUSTIN HOLLIMAN 1/04/19	4.70	44.20	207.74
2 BSPAINT BODY SHOP PAINT WORK REFINISH Pay Method BS Internal		Correction: REPAIR RIGHT REAR DOOR AND RIGHT D	OG LEG DET	RIM FO	
REFINISH Pay Method BS Internal		R PAINT			
Pay Method BS Internal	2	BSPAINT BODY SHOP PAINT WORK			
· · · · · · · · · · · · · · · · · · ·		REFINISH			
Tech: 146 KENNETH L LUBBER 1/04/19 4.80 44.20 212.1		Pay Method BS Internal			
		Tech: 146 KENNETH L LUBBER 1/04/19	4.80	44.20	212.16
Correction: REFINISH AND CLEAR COAT RIGHT REAR DOOR AND RIGHT		Correction: REFINISH AND CLEAR COAT RIGHT REAF	R DOOR AND	RIGHT	
OUARTER PANEL		OUARTER PANEL			
Previous <u>Next</u>		Previous <u>Next</u>			

^	-	: -	 *	
U	pt.	тο	ПŦ	

INVENTORY: 19T146A

19T146A:14 BUICK ENCLAVE UNKNOWN 5GAKRBKD8EJ148362 19T146A

RO Number 18005358

Opened/Closed **01/02/19 01/04/19** Service Writer JOHN WORKMAN

Odom Out/Tag # **108132**

Line	Description	Hours	Rate	Exten
	Paint & Materials			120.00
	Promo Messages: We Appreciate Your Business			120100
	<u>Previous</u> Next	:		

Option*

INVENTORY: 19T146A RO Number **16077068**

19T146A:14 BUICK ENCLAVE UNKNOWN Opened/Closed 12/26/18 01/10/19 Service Writer TIMOTHY POMORSK 5GAKRBKD8EJ148362 19T146A Odom Out/Tag # 108132 U146

Line	Description		Hours	Rate	Exten
1	BLW RECONDITION USED VEHICLE FOR RESA	ALE PER CHEC	KLIST		
	Pay Method MR Internal	Est:	1.50	112.24	
	Tech: 067 JEFFREY RAMIREZ 12/31/18		1.50	74.83	112.25
	Part: FL 500 S:FILTER ASY - OIL		1	6.78	6.78
	Part interchanges with part#	‡ AA5Z6714A			
	Part: XO 5W30 BSP:MOTORCRAFT SAE 5W-	-30 SN SNP	6	2.90	17.40
	Correction: LOF				
	TIRES F5/32 R5/32				
	BRAKES F8MM R4MM				
2	CLEAN CLEAN AND DETAIL VEHICLE				
	IN HOUSE				
	Pav Method MR Internal	Est:	.10	7.48	
	Previous	<u>Next</u>			

_		_	•			4		
0	D.	τ	1	o	n	T		

INVENTORY: 19T146A RO Number **16077068**

19T146A:14 BUICK ENCLAVE UNKNOWN Opened/Closed 12/26/18 01/10/19 Service Writer TIMOTHY POMORSK 5GAKRBKD8EJ148362 19T146A Odom Out/Tag # 108132 U146

Line	Description	Hours	Rate	Exten
	Sublet: REFLECTIONS MOBILE DET IV: 1381 PO: 1702	2657		200.00
(Correction: SUBLET FOR CLEANUP			
3	USEDR CHECK USED VEHICLE FOR RECALLS			
	NO OPEN RECALLS AS OF 12/26/18			
	Pav Method MR Internal			
	Tech: 067 JEFFREY RAMIREZ 12/31/18	.00	.00	TNCI
	Correction: CHECKED VEHICLE FOR RECALLS AND FO	OUND NONE		
	Promo Messages:We Appreciate Your Business			
	<u>Previous</u> Next			

_		_	•	_		4		
0	D.	τ.	1	o	n	T		